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i 72 P LETAMODCK 2029 i —

Tura Over
| YT ——rp—— oy T e e T T e



| -

I De jure population census s preferred o De facin

population census because;

A Tt is more aceumle sined it emumerates everyone where
they are at the ume ol census arespective ol ther
perminent residence.

B. It ignores persons who are travelling in the mght.

C. 1 prowvides a wide vanety of infamation relating o sex,
age, vecupation anid language,
1. It is nol tme consuming singe it is done in one migh

2. This question is based on table 1 below,

Total Guigint
Land| Labour product per
waorker
|
t 1 16 16
] 2 38 4
I 3 108 6
I 4 16N 42
L+ | 5 | 190 | 38
What level of employment will pive consiant retums to this
firm?
* A2 worker
B. 4™ worker
C. 5" worker
D, 3" warker

I a given change in price lends to a mare than
proportionate change in quantity supplied it implies,
A Demand of fairly elastie
B. Demand s perfeatly lastic
C. Supply is farly inelastic
I, Supply is Garly elastic
4 Reasoning that commences from general (o specifie
situations is known as....”
AL NN Ve ComHmIcs
B. Deductive methsd
C. Positive econmmics
D. Inductive method
5. Which af the following distingwishes a socialist economy
from a capitalist economy?
A. Adequate provision of public goods
B. Fierce competition
C. Under provision of ment goods
. Inequality in income and wealih
6. If average product increases with an increase in
population size it is referred to as
A. lucreasing population
B. Over population
C. Under population

. Optimum population

7 Car manufacturing can be classificd under which

stage of production
A. Quinary

B. Quatermary

C. Tertiary

D, Seeondary

K. “Mr. Puul who refuses to pay his tax cannet be prn'ﬂlr-ii
from travelling on the highway!™ which of the following
features best deseribies this phrase?

A Nom-rejeeinbiliy
B. Non-nivalry
C. Non-cxcludability
1. Moi=dimimshability
9, If the price of sachet water reduces fram 250rs 1o 20(rs
but ihe consumers keep buying the sume quantity g5
before, it implies that the demand for water is
A. Perdectly elusuc
B. Perfecily inelustic
C. Fairly elustic
0. Fairly melastc
I0.Given the following demand und supply functions
QN = 50-3 and Qs = JH2P. The market price and
juantity respectively are
il

A4 pnd §
B. 5 and KO
C.5and 4
D. & and 5
I 1. This question is based on ligure § below

[ A rerwwm

N
1 \-/ (LB
[lemtily the type of finm in wrms of cost
A. Break-even finn
B. High &t firm
C. Low cosi (irm
B, Marginal firm
12The injection-withdrawal condition for  equilibrium
level of national income for an open cconomy with no
government sector is __
A, 5+M = 12X
B. 5+T+M = HG+X
C.Y CH+X-M
YOG X-M
13 Adjustment  for  stock  appreciation  and
depreciation are made in which of the following
methods of calculating Nationol Income.
A. The expenditure method
B. lncome method
C. Uutpt
. Accounting method

Ot

stock
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17 IF a produet iy subsidized whose dema
what will be the likely consequence?
A, prolieers beneli foom e enijre stibsidy
B constmers benefit a greater amou of Subsidy

il s price elastic,

A An inerease in meome distibation
B. An merease in the stock of capital
C. Resourcy allocation

D An increose in population sjee

C, proddicers benelio n greaier proporiion ol the Sybsid
. consumers benefits the emntire subaiily i

1§ Which of the following would increase o trade union's
ability 1o gain a wape increase Tor ity members? -
A Aninelastie demand for the workers” output .
Ho A high level of national uriemployment .

44 Which of the following groups huve the first claim on the

assets of a company in the event of liquidation.
A, Halders of voting ordinary shares

B. Holders of participating preference shaies

C. Holders ol debentures

D. Holders of non-voting ordinary shares

CA I'.‘M level of membership among warkers
DA Lall inthe profit level of the COMpany.

W Which of the lollowing will lead 1o an "
of the multplier,

Ao An inerease in government spending on goods and
MVILes,

increase in the value

45 Which of the following fiscal measures ¢an encourage firms

to mave to certain arcas of Cameroon?
A. peneral s concession

H. higher incoma tax allowances

C. lower income tax allowances

I, regional lox concessinns

B. Anmerease in private invesiment,
C. A reduetion in the marginal PrOpPensIty o consume.
D A reduction in marginal propeasity o impoi.

40.A three- sector closed cconomy has Natianal lacome of
LM00Million, u marginal propensity (o save of 0.2,
marginal propensity to tax of 0.5 and marginal propensity
to import of 0.2, If the government wishes to achieve a full
employment level of national income at 15000M, by what

amount must she increase her expenditure
A TN

40, Goods X and ¥ are substitutes, What will be the effect on

the equilibrium priee and quantity of good X of a decrease
in the supply of good Y.
A deerense in price of X aiid decrease o guantity of
X
B. Increase in price of X and merease in quantity of X,
C. Increase in price of X and decrease in quantity of
X
. decrense in price ol X and increase in quantity of
X

B. | R0i0M
C. B0
D. SHin
A1.In which of the following ways can o commercial bank add
to the supply of money?
Al By inereasing its Lguidity satio

47 The extra bonus received by the highest goal scorer in

feotball fournament s referred In Economics us;
A, Quasi rent

B. Monopaly rent

C. rent of simuation

D, Weot al abilivy

B. By keeping precious objects for customens
C. Hy muking sdvances o custoimers,
D. By responding to the Central banks call for special deposil
42 With respeel o the following table, which of the following
stalements is correet?
Liniis af resources

Country A | Country B

44. The accelerntor theory of investment states that the level of

investment depends upon:

A, The rate of imterest

H, Vhe level of u.h-ing

C. The skee of changes in national income
Iy, The bevel of satomil ieone.

required we |
Praduce one phu:l; 30

Produce ane computer | S 20
A. Country B has an absolute advantage i the production of

15

497 e bank eredit multiplicr will be increased biv;

A, A reduction in the bank’s liquidity ratio
B, Anoincrease i baguid assets

C. An increase in e demand for loans

B, A isevcase i eash deposited in the bank.

hath goods =
B. Country B has an absalute advantage i the production of

phones :
. CIIHI'I[I'}’ Ahas o thmi'lu'“:m"r“ ;.h]"r'l-“ltll[-!l-' i the FIlH!!.lE[IlIII

ol computers, .
1. Country A s a comparative advantage in the production
aof both goods
43 A production possibility boundary will shift to the right if
there is:

0. Which of the following indicates a demand for the

Camernoniun FCFA?

Ao Imports of poods and services into Cameroon

B. Investmemt abroad by citizens of Cameroon.

C. Short-term ool outflows froan
Cameroon,

D. dividends carmed fom imnvestmem abroad by
[ miiieroabing
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15 The data below relutes to hypoithetical three seclor open

CCOMBIY;

[itvientinent = 260

sz =375 ol dispasable moome
Cinvermment spending = 4J00MECFA
Titomse Tas = 3iia

Tindineet e — 0
Eaport expenditure = HIMICTEA
lmport = 25 of imcome

o

Bty

Fiu0 150
The valuses of export and import respectively are

Al 150 and SOcoaputers
Wil os thee value of tee s mouliplier 150 rubbers f ke

Al 154 B. 70 rubbers and T computers
W -1.67 C. 7 rubbers and 70 compiders
. D80 [, R ruibbsers amd 7 compuices
0, -0.75 12, Far devaluation 1o successfully improve on the Balance

of payment delicit, the sum ol price elasticity of deman
for export and impart must be
A Cireater than one
H. Less than one
C. Equal o one
D, Megative

Vi Policies which seek to promote industrialication and
development by ereeting high barricrs on foreign goods |
In wrder to encourage domestic production is known as;
A. Expon proosotion developoem sitogy
B. Foreign amd srninegy
C. Impant substitution development slategy

20, Which of the following measures can be used to close an
inflationary gap?
A reducimg imeome e
B. Adopung a deflationary fiscal podicy
C. Devaluing the donientic curmency
0. Reduemne imteress ftes
27 Which of the following will impede the effectineness of
monetary policy in muost developing countries?
A.The  prlillration of  many  oon-linancial
institutions i the ceanonmy
B. Proper coordination botween mooctary  andd (iscal

il ecies.
: . D. L cpment I
C. The existence of g small sos-moncized secior . Aport substiution deve soliiduiii —
D. The increase use of banking services by the public. H.The “u:‘m‘“ relaies fo the populative statisties "F_
couniry }

28 Where do commercial banks amd other financial

instivutions settle thelr inter bank indebtedness? :..::ia:::::::e ol il -=1|l:1thllum
AL |0 the money market Crude derae = §%a
B. In a discount house Net migration = 15000
. i cleanng house a :
; wn witkang sge group — bl
I, i o capiial nurkel Activity rate = §i¥iy
29 Vialue added tax is a good example of What is the country’s population at the end of year 2
A A (Tal raie tax Ao 10,050, 000pcople
B. A specilic 1. 10,063 Midpcople
C. A progressive s C. 10,015, 000pcopke
. An Ad valorem i D. 10.150,000people
i Suppose the government operales o iax struciure where 15 W hat would prevent a firms Trom pulning the masimum
all incividuals wha curn between 0 and 106.0007rs pay benet from division of Lalwsur,
1/5 of thelr income as iy ond all incomes aboave A, Limited masket
LOO000rs pay 25 of (heir ncome as tax, Given that B. A high produciion cosi
there is a tax free allowance of 20,0000, il an €. Low productivity
individual's income increases from  T5.0000rs  to D. A high interest rate

E30,0000rs what is the ailditional smount paid as tas due
o this inercase?

Ao L LECEA

Ho A3 U00HECEA

C. 13,000FCFA

0. 44,000FCTF A

T his question is based on (lie following disgram

W, A firm sells 250units of 2 commodity when the price was
300frs. What will be the sales revenne of this fim if the
price increases 1o 4000s given that the PED for the good is
perfectly clastic.

Al TOOO00ECFA
B 750000 CTA
C. 7ero

D 25 DO0FUEA
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4. Talde 2 helow r-lln'c'-_'ti:'l:|1i.'£l1_m_l schedule ol a linn

Output (Toms) | Totul Caxt
S TS Y
0 000
1 T
2 22 100
3 X8, 000

The Average Fined Cost (AFC) for the 2 Limpul level s

Al T FCE A
B, 5000F0CF A

CoLLO0OFCEA,
I 32 000KTFA,

|5 An imaginary economy’s cansumption fupction is =
10,00043/5Y* and its income after tax is equal to

SOLODDFCFA. The value of total savings in this ccanamy
is

A I0,000FCEA

B. OFCEA

C. SILMOFCEF A

T 2 O00FCF A
16 The difference between Gross National produet aml

Gross Domestic product both at factor is___

A. Tox apd subsidies

B. Copill consumplion

C. Nt property income [eom abread

. Propery incame from abroad
17 Moncy held to entertain unexpected visitors only is

known as

A Trandachion balince

H. Precautionury balgnee

C. Active balance

0. Speculative balance
| 4. The balance sheet of animaginury commercial bank is as

fullows . -
Liabilities (MFCFA)| Assets (MFCFA)
Sight depusst 60 | Cashy oo nill n
Other habilities X | Balances at the Cemral

Hank 12
livestmeit N
Laun L
The value of? .
A 25Mallion

B. 40Millon
. 3sMillion
. G5Million

prevent the entry of new firms into the industry, lowers
profit or even make a loss in the short run 5o as lo secure
ather lony run nbjectives iy called

A, Predatory piacing

B. Market penctration

C. Skimimig prcing

. Lamit pricing

19 17 imcome elasticity is grester than § but less than one
(1), the gooid In question is a ?
A A luxury good
. A sticky gool
C. A neccssity
. An infenor good

20 A pricing policy where 3 lirm charges prices that

ikl e

21, This question is based on the dugmmm'flﬁ.*““

ki

Winch of e outputs illusmaies allocanive efficiency o
the Tirm?
AL
B, )2
.3
(L
22 Under which of the following conditions would you
expect the supply of labour (o be relavively elastie?
A When there @ hugh level of unemployment
B. When labeur is geographically immobile
C. When it lakes o longer time (o train Jobour
1. When specuil skills and wients are necbed
23 This guestion is based on the dingram below which

shows the earning of a factor of production with an
ehusiic supply.

Price] b
4
L//
5
n :
i Ohiasiiny
Q
The area PSF. represents the (actor™s

A Tranaler camibings

B, Supply prive

C. Econom|e rem

. Oppritumny cosl

24 Which of the following formulae v used o calculate

Total lovestvent?

A Giross mvestment +Value of physical change m stocks
and work i progress.,

B. Net mvestment - depreciabion + value of physical
change i stocks and work i progress

C. Gross mvestment- net wvestiment

0. Gross mvestnent - value of physical change in stocks
and work in progress.
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